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10 + -4 =

T+ 2

-5 + 9

\
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3. 4+ -7
4. -7 + 4

5. -6+ -5
. -9+ 4
7. -8+ -3
8. -3+ -4
9. -1+ 9

20. 8 + -3
2. 10+ -0
22. 10 + 10
23 -3+ -9
24 4 + -0
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9+ 2

| + -5
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10 + -4 =

T+ 2

-5 + 9
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ANSWER KEY

4 3. 4 + -7
2 4. -7 + 4
5 5. -6+ -5
-2 . -9+ 4
G 7. -8+ -3
l 8. -3+ -4
-3 9. -+ 9
-7 20. 8 + 3
-4 2. 10 + -0

-14 22. 10 + 10

-9 23 -3+ -9
4 24 4 + -0
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7+ -3+ 9

4+ -7+ -2

3+ 4+ 7

-0+ -7 + -8

92+t -4+ -G

7+ 9+ -4

-9+ 3+ -4

-7+ -8+ 9

3+ -7+ -6

7+9+ -0

-+ -9+ 4

8+ -8+7

= L -5+ -3+ 9

= 2. -4+ -G+ 4

= 3. 9+ Il + -3

= 4. 5 + -7 + -20
= 5. 30 + 27 + 4
= 6. -29 + 3l + -32
= 7. 40 + 51+ 16
= 18. -4G + 51 + 4
= 9. -9+ -50 + -3
= 20. 10 + -0 + -3
= 2l 7+9+ -3

I\

22 10 + 18 + -4
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1Z.

7+ -3+ 9

4 + -7+ -2

3+ 4+ 7

-0 + -7 + -8

2+ -4+ -0

7+ 9+ -4

-9+ -3+ -4

-7+ -8+ 9

3+ -7+ -0

7+9+ -0

-G+ -9+ 4

8+ -8+ 7

ANSWER KEY
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IG.

I7.

18.
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20.
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272,

5 +-3+9

-4 + -6 + 4

9+ 1l + -3

5 + -7 + -20

30 + -27 + 4
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-29 + 31+ 32 =

40 + 51 + 1

-4G + 51 + 4

-9+ -50 + -3

IO + -0 + -3

T4+ 9+ -3

O+ 18 + -4
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Sub+rac+ing In+eger«;

(+7) - (+10) = (+7) + (H0) = (-3)

(+7) - (o) = (+7) + (+10) = (+17)

(-7) - (+10) = (-7) + (40) = (-17)

(71 - (o) = (-7 + (+10) = (+3)
I 9 -4 = 3. -6 -6 =
2 &-1I = 4. 9 - -9 =
3. 10--13 = 5. 7 - =
4 5 -l = IC. - -4 =
5 7-9 = 7. -4 -15 =
. 9--4 = 8. -3 -16 =
7 -4-9 = 9. -6--20 =
8 -9--5 = 20. -5 --14 =
2. B-lb = 21, | - -G =
0. 5 --12 = 22 A - -7 =
L -7--5 = 23 -4 --19 =
2. -18--5 = 24 -5 --10 =

e
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15 - 16
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ANSWER KEY

'5_ 3. 4o -6 =| 22
-4 4. 9 - -19 =| 28
23 5. 7 - =| 8
-3 6. I1--4 =|I5
-2 7. 44 -15 = | -29

3 8. -B-1 =|-29
13 9. -G--20 =| 14
-4 20. 5 -44 =| 9

-3 2l 1-Hde = |17

27 22, -7 = |16

12 23 -4-49 =|1I15
3 24 -5 --40 =[5

e



L 49 -7 = 3. 49--3 =
2. 21-0 = 4. 29 - 32 =
3. 33-49 = 5. 39 -27 =
4 -9 --20 = 6. -9 -29 =
5 23--3 = 7. 27 - 34 =
C. 2-14 = 8. 18-39 =
7. A7 -19 = 9. 38-28 =
8. -9 --20 = 20. 35 - 27 =
9. 23-21 = 2l 33-0 =
0. 1B --33 = 22. 27 --26 =
L 49 -3 = 23. 34 - 33 =
2. 20 -1 = 24. 50-36 =
I 98 - -T2 = G 326 - 37 =
2. -2 - 43 = 7. 322 - 208 =
3. 145 - 20 = 8. -459 - 344 =
4 230 - -143 = 9. 467 - 59 =
5 291 - 29 = 0. 593 - -7l =

e
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ANSWER KEY

I -9 - 47 =] -2 3. -9 - -3 =| 1z
2 -2-0 =| -2l 4. -29 --32 =| 3
3. 33--19 =|52 5. 39 -27 =| -G
4. -9 --20=| 3 . -9 - 29 =|-48
5. 23 -3 =| 54 7. -27--34 =| 7
. 2-14 =| 7 18. 8 - 39 =| -2l
7 AT -19 =30 9. 38 -28 =|-6G
8 -9 --20 = l 20. 35 --27 =| -8
9. 23 -2 = | -44 2. 33-06 =| -39
0. B--33 =| 40 22. 27 --206 =|53
I -9 -3 =|-55 23. 34 - -33 =|
2. 20 --1 = | -9 24. 50 -3 =[-86
I 98 - -T2 =| 70 G 326 - 37 =| 45
2 2 - 43 =| 22 7. 322 - 28 =| 54
3. 45 - 216 =| T 8. -459 - 344 =|-803
, 4 230 - 143 =| 379 9. 407 - 59 =| 124
5. -291- 29 =|-582 0. -593 - -C71 =| 78

e



